
DI+LR : Cross referencing data  

Prof Singh has been tracking the number of visitors to his homepage. His 
service provider has provided him with the following data on the country of 
origin of the visitors and the university they belong to. 

Q1. University 1 can belong to  

a. UK  b. Canada  c. Netherlands  d. USA 

Q2. To which country does University 5 belong ? 

a. India or Netherlands but not USA 
b. India or USA but not netherlands 
c. Netherland or USA but not India  
d. India or USA but not UK  

Country Day 1 Day 2 Day 3

Canada 2 0 0

Netherland 1 1 0

India 1 2 0

UK 2 0 2

USA 1 0 1

University Day 1 Day 2 Day 3

U1 1 0 0

U2 2 0 0

U3 0 1 0

U4 0 0 2

U5 1 0 0

U6 1 0 1

U7 2 0 0

U8 0 2 0



Q3. Which among the listed countries can possibly host three of the eight 
universities ? 

a. None b. Only UK  c. Only India   d. Both India and UK  

Q4. Visitors from how many universities from UK visited prof Singh’s 
homepage in 3 days ? 

a. 1  b. 2  c. 3  d. 4 

Ans :  
c,a,a,b 




